
SPARTUS® SP151H / SP151M

EN 60974-7
Cutting current: max 150 A
Cooling type: air cooled
Duty cycle: 60%
Working pressure: 4.5 - 5.0 bar
Min. air cooled fl ow rate: 220 L/min
Arc ignition: HF
Post gas 
fl ow time: 90s (recomended)

         1

                  3              
5

              3a
             2                4             2a

                  2a

  2b

            2b

       
6

            19              20      6

      7                   8

              7

   8              8

  9                  21   23
                9

10              13            13                   10

11              14           
 25

         16              17                         22    24

12
               15

         18

            Connection M14x1 lub 1/4”   Central connector

HF

●  PRICELIST ● INTERACTIVE CATALOGS ●
www.premiumweld.pl

Circle



SPARTUS®

SP151H / SP151M

TRAFIMET®

R145 / 145R® 
ERGOCUT® A151® / AUTOCUT® P151®  

CODE REF. NO. DESCRIPTION
06920/LT PA0129

PA1550
PA1552

SP151H Hand torch, 6m   (connection M14x1)

06921/LT PA1554 SP151H Hand torch, 6m   (central connector)
06930/LT PA0130

PA1551 SP151H Hand torch, 12m (connection M14x1)

06931/LT PA1555 SP151H Hand torch, 12m (central connector)
06940 PA0127 SP151M Machine torch, 6m (connection M14x1)
06941 PA0252 SP151M Machine torch, 6m   (central connector)
06950 PA0128 SP151M Machine torch, 12m (connection M14x1)
06951 PA0253 SP151M Machine torch, 12m (central connector)

NO. CODE REF. NO. [H] [M] DESCRIPTION
1 06901/KIT PF0160 ● Hand torch head with handgrip
2 06901 ● Hand torch head 
2a 06000.60 ● ● O-ring (20pcs/pck)
2b 60080 ● ● Front insulator
3 09706 BX0020 ● Handgrip with macroswitch

3a 07301.20 ● Switch
4 06910 PF0111 ● Machine torch head
5 03310 ● Machine handle
6 05004 ● ● Diffusor
7 52534 PR0111 ● ● Electrode
8 60031 PE0103 ● ● Swirl ring
9 51241 PD0109-14 ● ● Tip fi  1.4

51242 PD0109-16 ● ● Tip fi  1.6
51243 PD0109-18 ● ● Tip fi  1.8
51244 PD0109-30 ● Gouging tip fi  3.0 

10 60387 PC0120 ● Retaining cap
11 60388 BW0139 ● Nozzle shield
12 60379 CV1105 ● Cage spacer
13 60385 PC0103

PC0131 ● ● Contact retaining cap

60385/V ● ● Contact retaining cap     Max Life
14 51952 ● Spring holder protection nut
15 51911 ● Spacer spring (10pcs/pck)
16 51953 ● Gouging spacer
17 51950 ● Spacer for contact cutting, hand
18 51959 ● ● Locking nut
19 05005 ● Diffusor
20 52530 PR0116 ● Extended electrode
21 51149 PD0111 ● Extended tip fi  1.1 max 50A
22 51957 CV0008 ● Shield cap, hand max 50A
23 51149.14 PD0117-14 ● Extended tip fi  1.4

51149.17 PD0117-17 ● Extended tip fi  1.7
51149.19 PD0117-19 ● Extended tip fi  1.9

24 51958 CV0009 ● Spacer for contact cutting, hand
25 51951 ● Shield cap, machine

04220/S ● Cable, 6m (M14x1) - hand torch
04230/S ● Cable, 12m (M14x1) - hand torch
04222/S ● Cable, 6m, (M14x1)- machine torch
04232/S ● Cable, 12m, (M14x1) - machine torch
51851 ● Circle cutting attachment

 [H] - parts apply for hand torch
 [M] - parts apply for machine torch
SPARTUS® is independent brand and not connected to TRAFIMET®. Consumables which are offered at catalogue are produced for SPARTUS® from other manufacturer’s documentation.
Reference numbers and names belonged to TRAFIMET® were called due to Property Right Law (art. 156 ust.1, pkt 3 ) for buyer’s convenience and they are related to code and spare part’s description.

... other connections see catalog page 4.05

●  PRICELIST ● INTERACTIVE CATALOGS ●
www.premiumweld.pl

DESCRIPTION


